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Looking for string functions in SQL with examples? Surely you are a bit more advanced SQL scholar, aren't you? Vertabelo Academy is therefore a perfect place for you too look in.

 
Why?
Not only we're interested in giving top notch resources for the beginners, but also, as our ambition is to become the most reliable SQL eduacational resource out there, our Academy continually expands its offer for the more advanced SQL query language users.


"String functions in SQL with examples" - sounds like an issue?
Among them there might be persons searching for, for instance string functions in SQL with examples - and we've got what you need. As for ouor resources, we offer not only interactive SQL tutorials and courses with tasks modeled on the real life scenarios, giving you the taste of what it's like to work as a data scientist facing difficult and challenging issues at work, but also we write blog posts in which we deal with particlar issues.
For instance, when it comes to string functions in SQL with examples, there is a dedicated blog posts, showing 5 examples of functions allowing you to manipulate SQL strings. Keep reading if that's a bullseye for your googling effort:
academy.vertabelo.com/blog/5-functions-manipulating-sql-strings/
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